6.1

[16]

(solution gradient)

[15]

(principal stress)
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(solid mechanics)

dx dAxoy 6.1)
d\ OA
ayax 5y2
9 ] ,
(&,d_y)
(main node)
<Kx»y) = N1+ n2<j)2 H n3es (6.2)
Nj,i=123 <), i= 1,23
Nj (x,y) = aj + bj X+ Cjy ={s7) 3 (6.3)
a{, bj, Cj (3.17a-f)
ai = (x2y3' X3y2)/2A (6.42)
a2 = (x3yt1-Xx y3)/2A (6.4 )
a3 = (Xjy2-x2y])I2A (6.4¢)
bl = (y2-y3)/2A ¢, = (x3-x2)/2A (6.4d)
b2 = (y3-yt)/2A €2 = (Xj - X3)/2A (6.4¢)
b3 = (y, -y2)/2A €3 = (X2 - Xj)I2A (640
A
SR LP P RIS PRI P F IR P (6.5)

d<toe . N1 . aN2 . aN3 _
fix dx * odx 8
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aN3
SN'=b, §N» . b, = b,
ax ax 2 dx
a<jle . .
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ax
= 2A Ky2_ y3™ “+ (y3-Yi){2+ (yi-y 2xp3] (6.7a)
LT G@ +c24 + c3fs
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(6.8a)
ax
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8 dy dy dy (6.8b)
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6.1
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dy dy ay
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d24e + 84
& ay2 ay? dy (6.10b)
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(principal values)
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h min 4 max
(principal value)
6.2
(velocity gradient)
6.1
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A d\ 0 A
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(6.13)

[17]

(6.14)

(6.15)



(6.6-6.10)

ove N, sn2 sn3
S o T vt g v

SV, _
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